Homework 5a

(the Homework 5 was divided on two homeworks: 5a, and 5b)

Consider the following curves:

Cy:r(t) {§:2t2_1, 0<t<1, Co:r(t) {52%2_1, —1<t<1,

' =2t 1 _ T = cost -
Cs:r(t) {y:&g_l, 0<t<g, Cy:r(t) {y:cos%’ 0<t< 3,
r=1 r=1-1
05'r(t){y:2t 1 0<t <, CG.r(t){ _ 215,0<t<1,
Cr:x(t) r=sin’t gy Cor(t) 1577 l<t<l1
' y=—cos2t’ 2’ ' y=v1-t’ ’
T = cost x = cos 2t -
Cg.r(t) {yzsint,0<t<ﬂ', Cho I‘(t) {y:SiHZt’O t<§,
T = cost T =acost .
Ci1:r(t) {y:sint , 0 <t <2m, Cia:r(t) {y:bsint , 0 <t <2 (ellipse),

Draw the images of these curves.

Write down their velocity vectors.

Indicate parameterised curves which have the same image (equivalent curves).

In each equivalence class of parameterised curves indicate curves with same and op-
posite orientations.



